EARAROBEEIERT — 2 N— IBISH —F

2019527178 (B) 1EXR=8H

R EEEXY

5

CES)

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — | Z (%) 18000 B

[A&4£] 1 7% :6,000,000 @ 23 :2,400,000 @ 3 3 :1,500,000 @ 4 3 :900,000 5 7% :600,000 [
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
PEL DR :51. —0— . . HRIRER (i)
1 | 7AURT4—0 i 3 A 1(52)3 322 [33.9]80.7 | 2 (418) o
LN—E>Tv— B:ILITA)ZR [Ea=Eae]
= . # 3 | fEAKH— 1:51.5 6-7-7 |33.8| 78.6 | 4 470 | FHEEX (EH)
2 4 FZ 2 AKR—%2— 5%.0 (1 1/4) (=) ZIRiEE
L:b—t>ya—4> B:YUFPLXHTz ERT7—L
4% 3 | MEEZ 1:51.7 9-9-8 33.7| 76.6 | 7 408 | BREE (E@)
38|15 ¥— M2 54.0 ) o | W) G-z
LN=V774 B:LA KR=-ZUT ERT7—L
5 S 4 3 | AEEE 1:51.8 3-3-3 |34.3|74.0| 3 466 | HEEA (EH)
4l5/10/FxVvai— 54.0 (3/4) o) |TERT>
L1 b= B:FIU-INLX H—L— - JvX> - T7—LARS
. N # 3 | FFPEKER 1:52.1 2-1-1 34.8| 67.1 | 11 M4 | NBEZ (EH)
517|14| 71 >A LA 2HK— £52.0 @ (—) |BEFBEL
R:Hh—0 BHATAI-FIL & %
% 38 | F. IFUY 1:52.2 3-5-4 |34.6|68.1 | 5 484 | WEEH ()
EE 3| TU—F+vFIL 54.0 (1/2) (=) | ) a—Fx—x557
R/ B:Ea7IVyT KA
= 4 3 | AAREF 1:52.2 1-3-4 34.6| 68.1 | 6 40 | BEEA (EH)
7159|777 717 — 54.0 (7E) (=) ﬁ;ﬂ%
QLFA— TN B U—HE— (B) #EaI-FKL—-—varaErr
= 4t 3 | HAILEAE :52.2 9-7-8 |34.3| 70.7 | 9 448 | NBRZ (EH)
gl1|1|P>T—RI—W 54.0 s ) |FERT>
L:N—ErVv— B:YLF—31-X H—L— - JvX> - T7—LARS
i i3 | ERE— 1:52.3 9-9-8 [34.4]69.2 | 15 | 454 |RIIAK (i)
9 713>t 54.0 (7€) (=) |EHE
R:7—074-X B:ifirt F& R4S
> S # 3 | K& 1:52.4 6-5-4 |34.8| 64.8 | 8 512 | FIESM (EiH)
1kl | *T>avi¥a 56.0 (1/2) () | AL
Rixfavhnayy B:hk—v>vylq1a [QLR<0F e
Sre i 3 | FR— 1:52.6 8-11-8 | 34.7 | 64.1 | 10 | 440 |FEE (i)
11 8 TAIN YR A52.0 (1 1/4) (=) *}m’ﬁ‘%;—
LN=v7354 B:FaaL—hrJU-— i/ ¢ie]
S 4 3 | BEER 1:52.6 15-13-12 [34.5| 65.9 | 12 | 472 |E=hiEE (EiH)
12l8li6l T FL—ELF— 5.0 (o) O L mma-2s57
iy RAN—4 BRI RZA L FIRM I
= K o K 4 3 | C. bx—Jb 1:52.7 12-11-12 | 34.6 | 64.2 | 1 482 | BERFME ()
EH” Ty RTAyE 5.0 (1/2) o | B saL=xa-x
LN—=YT54 B:NA hoNA (B) HBEa-KL—-ra>aEI7
o # 3 | HE— 1:52.8 12-13-12 [34.6| 63.5 | 16 | 478 |FIlIEE (i)
14/ 1] 2| ET271U7~-L [B] 56.0 (3/4) (=) |fEtexE
R:AYAZgr—R B:FNTTA Rk 5
LS e # 3 | AEFH 1:52.8 16-16-16 | 34.3 | 64.4 | 14 410 | PEEERE (E@)
Eam IR LR A51.0 (7€) (—) |BNE
LN=HNK BIIXE>T 14— YIXBZLT7—LI
S 4 3 | IHES 1:53.0 12-13-12 [ 34.9 | 59.4 | 13 | 456 |/1\BRZ (X&)
1617113 >adlvhE 56.0 (1 1/4) (=) SR
L:ANZZATNG B:LAFFT7ITUL EEFL BRI
@ 71 L
) 46.9-34.0
NA>Z24 L | 13.4-12.2-12.8-12.8-13.2-12.9-11.5-11.2-11.3
® I —F—@EBIERL
1T=7r=
20—+ — (¥9,14) (3,5,10) (4,6)8(1,7,15) (2,11,13)16-12
Gol=5r= 14,5(9,10) (3,6) (1,4) (7,15) (11,8) (2,16,13)-12
43—+ — (x14,5)10(9,3,6)4(1,7,15,8) (2,16,11,13)-12
[ N3
BB 5 500H 714K 4-5 690M e E 2-3 950M JEHE 4-5-15 8,730/
8 B 5 200M =19 1,300M B = 4-5 1,770 B 5-4-15 37,380H
4 240M 4-15 1,930M B H 5-4 3,320M
15 430M

ABICOVWTRDTEEERROODE. TR LIV,




